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Stock Valuation

There are many techniques that are available to investors when trying to calculate their stocks, and it can become overwhelming to some.  The easiest and most used method in stock valuation is the comparables method and the more involved methods that can be used in almost any situation (Investopedia.com, 2016).  There are two main categories that stock valuation fall under: relative valuation and absolute valuation, which are based on fundamentals.  These methods are based on dividends, growth rate, and dividends for any single business (Investopedia.com, 2016).  Each situation is different for investors because every stock is different.  It is difficult for investors to figure out what method to use because every industry has unique properties that may have a need for a different approach and different valuation approaches (Investopedia.com, 2016).  This is why stock valuation is broken down into two basic categories of stock, which are common and preferred.  Overall, stock valuation is the total process in which an organization figures out its present monetary worth.  An analyst can evaluate many different aspects of an organization to determine its worth such as management, future earnings, market value of assets, and capital structure (Investopedia.com, 2016).
Total Return

Total return is a measurement in the performance of the actual rate of return of an investment or a series of investments within any assessment span of time (Investopedia.com, 2016).  Total return consists of distributions, interest, dividends, and capital gains that are executed over a duration of time.  A great example from Investopedia.com would be "An investor buys 100 shares of Stock A at $20 per share for an initial value of $2,000. Stock A pays a 5% dividend the investor reinvests, buying five additional shares. After one year, the share price rises to $22. To calculate the investment's total return, the investor divides the total investment gains (105 shares x $22 per share = $2,310 current value - $2,000 initial value = $310 total gains) by the initial value of the investment ($2,000) and multiplies by 100 to convert the answer to a percentage ($310/$2,000 x 100 = 15.5%). The investor's total return is 15.5%."  Total return is important because it shows growth potential and the ability to produce small capital gains (Investopedia.com, 2016).  Total return will arbitrate an investment's genuine increasing growth over a period of time, and look at the whole picture, not just individual areas at a time when evaluating increases in value (Investopedia.com, 2016).
CAPM (Capital Asset Pricing Model)
CAPM is used in most cases to figure out a fair price of what an investment should be (Investinganswers.com, 2016).  One can calculate the risky asset's rate of return using CAPM, which then the rate could then be utilized in discounting that investment's future cash flows for the business's present value, and reach at the investment's fair value (Investinganswers.com, 2016).  An analyst can utilize CAPM to decipher what price a person should pay for a distinct type of stock (Investinganswers.com, 2016).  If a stock is riskier than another stock, the less risky stock should be the one that is lower to atone investors for taking on the more risky stock (Investinganswers.com, 2016).  
WACC (Weighted Average Cost of Capital)
WACC would be average of the minimum after-tax that is the appropriate rate of return which is a necessity for a business to earn for all of its stockholders, debt holders, and preferred stockholders (Accountingexplained.com, 2013).  The calculation is found by the cost of each element of a business's capital design, multiplying that amount with the applicable capacity of the element to the entire capital, and then totaling up the corresponding cost of the elements (Accountingexplained.com, 2013).  WACC is an extremely effective mechanism because it can tell whether a certain project is maturing a shareholder's wealth or whether it is just atoning the expenditure (Accountingexplained.com, 2013).  The WACC is important because according to Accountingexplained.com (2016) " Weighted average cost of capital is the discount rate used in calculation of net present value (NPV) and other valuations models such as free cash flow valuation model. It is the hurdle rate in the capital budgeting decisions."  WACC shows the risks that are presented to any business and what they need to pay attention to.  It requires adjustments so the company can calculate NPV (Net Present Value) for projects that can be riskier than the business's normal running projects, and a descending accommodation for the least risky projects (Accountingexplained.com, 2016). 
Flotation Costs

Flotation costs are acquired by publicly traded companies when they issue new securities that often include fees such as underwriting, legal, and registration fees (Investopedia.com, 2016).  Organizations build capital in two different ways: loans and bonds, or equity.  Few organizations choose releasing bonds or attaining a lon, particularly when interest rates are rather low (Investopedia.com, 2016).  INvestopedia.com also states " The difference between the cost of equity and the cost of new equity is the flotation cost. The flotation cost is a percentage of the issue price and is incorporated into the price with a reduction."

1. Stock Valuation: A stock has an initial price of $100 per share, paid a dividend of $2.00 per share during the year, and had an ending share price of $125. Compute the percentage total return, capital gains yield, and dividend yield.

Stock valuation:

Capital Gains Yield = Ending Stock Price = Beginning Price/Beginning Price

Capital Gains Yield = 125.00 - 100.00/100.00 = .$25.00/100 = .25 or 25%

Dividend Yield = Dividend Paid/Beg. Price = Price = 2.00/100 = 0.02 = 2.00

Percentage Total Return = Capital Gains Yield + Dividend Yield 

%Total Return = 25% +2.00 = 27%

2. Total Return: You bought a share of 4% preferred stock for $100 last year. The market price for your stock is now $120. What was your total return for last year?

Initial Stock Price is $100

Market Stock Price is $120

Dividend Yield is 4%

Dividend in Dollars is $4.00

Total Return = [(Market Price - Initial Price) + (Dividend in Dollars)]/Initial Dollars

Total Return = [(120 - 100) + 4.00]/100 = 24.00/100 = 24%

3. CAPM: A stock has a beta of 1.20, the expected market rate of return is 12%, and a risk-free rate of 5 percent. What is the expected rate of return of the stock?

Expected Return on Stock = Risk Free Rate + [Beta + (Expected Return - Risk Free Rate)]

Expected Return on Stock = .05 + [1.20 * (.12 - .05)] = 0.5 + (1.20 * .05) =.05 + .134 = 13.4%  

OR:

Rate = 5% + 1.20 * (12 % - 5%) = 13.40%
4. WACC: The Corporation has a targeted capital structure of 80% common stock and 20% debt. The cost of equity is 12% and the cost of debt is 7%. The tax rate is 30%. What is the company's weighted average cost of capital (WACC)?
80% *12% +20% *7% *70% = 10.58%
5. Flotation Costs: Medina Corp. has a debt-equity ratio of .75. The company is considering a new plant that will cost $125 million to build. When the company issues new equity, it incurs a flotation cost of 10%. The flotation cost on new debt is 4%. What is the initial cost of the plant if the company raises all equity externally?
Cost = 125/0.90 = 138.89 million 

Retrieved from: http://accountingexplained.com/misc/corporate-finance/wacc
Retrieved from: http://www.investopedia.com/walkthrough/corporate-finance/3/stock-valuation/introduction.aspx
Retrieved from: http://www.investinganswers.com/financial-dictionary/stock-valuation/capital-asset-pricing-model-capm-1125
Retrieved from: http://www.investopedia.com/terms/t/totalreturn.asp
Overall, The Rate of Return for Stocks and Bonds summary was very good. The summary included all the key reasons why Total Return, WACC and CAPM are used in financial decision making. The following problem was incorrect: Problem Five flotation cost is 7.43%; therefore the plant cost is $135,030,864.20. The assignment earned 4.50 out of 5.00 points for Content and 2.00 out of 2.00 points for Mechanics. The assignment earned a 93%.
